

ON THE PROOF OF ERDŐS' INEQUALITY

LAI-YI ZHU, DA-PENG ZHOU, Beijing

Received May 24, 2016. First published March 1, 2017.

Abstract. Using undergraduate calculus, we give a direct elementary proof of a sharp Markov-type inequality $\|p'\|_{[-1,1]} \leq \frac{1}{2}\|p\|_{[-1,1]}$ for a constrained polynomial p of degree at most n , initially claimed by P. Erdős, which is different from the one in the paper of T. Erdélyi (2015). Whereafter, we give the situations on which the equality holds. On the basis of this inequality, we study the monotone polynomial which has only real zeros all but one outside of the interval $(-1, 1)$ and establish a new asymptotically sharp inequality.

Keywords: polynomial; Erdős' inequality; undergraduate calculus; monotone polynomial

MSC 2010: 41A17, 26D05, 42A05

1. INTRODUCTION AND MAIN RESULTS

Throughout this paper, we denote the class of all polynomials $p(x) = \sum_{i=0}^n a_i x^i$ of degree at most n by π_n if $a_i \in \mathbb{R}$ and $\pi_n^{\mathbb{C}}$ if $a_i \in \mathbb{C}$. We also denote by $\|\cdot\|_K$ the supremum norm on a set K .

We know that the classical Bernstein's inequality

$$|p'(x)| \leq \frac{n}{\sqrt{1-x^2}} \|p(x)\|_{[-1,1]} \quad \text{for } -1 < x < 1$$

holds for every $p \in \pi_n^{\mathbb{C}}$ and the Markov's inequality

$$(1.1) \quad \|p'(x)\|_{[-1,1]} \leq n^2 \|p(x)\|_{[-1,1]}$$

holds for every $p \in \pi_n^{\mathbb{C}}$. For proofs of these see [2] or [3]. In 1940, to extend the "right" Markov factor n^2 in (1.1), Erdős dealt with inequalities for the polynomials, of which

The research has been supported by the National Natural Science Foundation of China under Grant No. 11571362.

the location of the zeros is constrained, and obtained the following inequality known as Erdős' inequality (see [5]).

Theorem E. *The inequality*

$$\|p'(x)\|_{[-1,1]} \leq \frac{en}{2} \|p(x)\|_{[-1,1]}$$

holds for all $p(x) \in \pi_n$ having all their zeros in $\mathbb{R} \setminus (-1, 1)$.

In [5], Erdős mentioned that if we ulteriorly constrain that p' has no zero in $(-1, 1)$, we have the following theorem, a more strict result.

Theorem 1.1. *Let $p \in \pi_n$. If the zeros of p and p' are all real and lie in $\mathbb{R} \setminus (-1, 1)$, then*

$$(1.2) \quad |p'(x)| \leq \frac{n}{2} \|p(x)\|_{[-1,1]} \quad \text{for } -1 \leq x \leq 1.$$

Other inequalities for constrained polynomials can be found in e.g. [1], [6], [7], [8].

Erdős only pointed out that a slightly longer calculation would get the result of Theorem 1.1, but did not give a hint to prove it. Recently, T. Erdélyi had proved Theorem 1.1 using Lorentz representation of polynomials (see Theorem 2.5 in [4]). But he emphasized in [4] that a direct elementary proof of this using undergraduate calculus would be desirable, which is just what we have done in this paper.

Whereafter, we analyse in which situations the equality in (1.2) holds and obtain:

Theorem 1.2. *Let $p \in \pi_n$. If the zeros of p and p' are all real and lie in $\mathbb{R} \setminus (-1, 1)$, then the equality in (1.2) holds if and only if*

$$(1.3) \quad p(x) = c \left(\frac{1 \pm x}{2} \right)^n, \quad n \neq 2$$

and

$$(1.4) \quad p(x) = c \left(\frac{1 \pm x}{2} \right)^2 \quad \text{or} \quad p(x) = c \left[1 - \left(\frac{1 \pm x}{2} \right)^2 \right], \quad n = 2,$$

where c is an arbitrary nonzero real number.

In this paper, we propose additional correction to Theorem 2.5 in [4] for $n = 2$.

On this basis, we study the monotone polynomial with only one zero in $(-1, 1)$ and give a new inequality.

Theorem 1.3. *If $p(x) \in \pi_n$ has only real zeros all but one outside of the interval $(-1, 1)$ and is monotone on $[-1, 1]$, then*

$$(1.5) \quad \|p'(x)\|_{[-1,1]} \leq (n + e^2 - 1) \|p(x)\|_{[-1,1]}.$$

2. SOME AUXILIARY RESULTS

To prove our main results we need the following lemmas.

Lemma 2.1. *Let $p \in \pi_n$ such that $\|p\|_{[-1,1]} \leq 1$ and $p(-1) = 0$, $p(1) = 1$. If the zeros of p and p' are all real and lie in $\mathbb{R} \setminus (-1, 1)$, then*

$$(2.1) \quad \frac{p(x)}{1+x} < \frac{1}{2} \exp \frac{1-x}{2}$$

holds for $x \in (-1, 1)$.

Proof. Let $x_1 = 1$ and x_j , $j = 2, 3, \dots, n$, be n zeros of $p(x)$, then we can easily get

$$(2.2) \quad p(x) = \frac{1+x}{2} \prod_{j=2}^n \frac{x-x_j}{1-x_j}$$

and

$$(2.3) \quad p'(x) = p(x) \left(\frac{1}{x+1} + \sum_{j=2}^n \frac{1}{x-x_j} \right).$$

Hence, from $\prod(1+a_j) < \exp \sum a_j$, $a_j \neq 0$, and $p'(1) \geq 0$,

$$\frac{p(x)}{1+x} = \frac{1}{2} \prod_{j=2}^n \frac{x-x_j}{1-x_j} < \frac{1}{2} \exp \sum_{j=2}^n \frac{x-1}{1-x_j} = \frac{1}{2} \exp \left((1-x) \left(\frac{1}{2} - p'(1) \right) \right).$$

Then (2.1) holds. □

Lemma 2.2. *Let $p \in \pi_n$, $p(-1) = 0$, $p(1) = 1$. If the zeros of p and p' are all real and lie in $\mathbb{R} \setminus (-1, 1)$, and $x_0 \in (-1, 1)$ is a zero of $p''(x)$, then*

$$(2.4) \quad \left(\sum_{j=1}^n \frac{1}{x_0 - x_j} \right)^2 = \sum_{j=1}^n \frac{1}{(x_0 - x_j)^2}$$

and

$$(2.5) \quad \sum_{j=m+1}^n \frac{1}{x_j - x_0} < \sum_{j=2}^m \frac{1}{x_0 - x_j}$$

hold, where x_j , $j = 1, 2, 3, \dots, n$, are n zeros of $p(x)$ and $x_m \leq x_{m-1} \leq \dots \leq x_1 = -1 < 1 < x_{m+1} \leq \dots \leq x_n$.

P r o o f. Performing some simple calculations, we get

$$p''(x_0) = p(x_0) \left[\left(\sum_{j=1}^n \frac{1}{x_0 - x_j} \right)^2 - \sum_{j=1}^n \frac{1}{(x_0 - x_j)^2} \right].$$

Thus, for $p''(x_0) = 0$, $p(x_0) > 0$, (2.4) holds. Since

$$\begin{aligned} 0 &< \sum_{j=2}^n \frac{1}{(x_0 - x_j)^2} = \frac{2}{x_0 + 1} \sum_{j=2}^n \frac{1}{x_0 - x_j} + \left(\sum_{j=2}^n \frac{1}{x_0 - x_j} \right)^2 \\ &= \left(\sum_{j=2}^m \frac{1}{x_0 - x_j} - \sum_{j=m+1}^n \frac{1}{x_j - x_0} \right) \left(\frac{1}{x_0 + 1} + \frac{p'(x_0)}{p(x_0)} \right) \end{aligned}$$

(obviously $m \geq 2$ here) and

$$\frac{1}{x_0 + 1} + \frac{p'(x_0)}{p(x_0)} > 0,$$

we prove that (2.5) holds. □

Lemma 2.3. *Under the conditions of Lemma 2.2, if*

$$\frac{1}{(x_0 + 1)^2} < \sum_{j=m+1}^n \frac{1}{(x_j - x_0)^2} \quad \text{and} \quad \sum_{j=m+1}^n \frac{1}{x_j - x_0} \leq \frac{1}{2} \sum_{j=1}^m \frac{1}{x_j - x_0},$$

then for $n \geq 4$

$$p'(x_0) < \frac{n}{2}.$$

P r o o f. Under above conditions and by (2.5), we can find

$$(2.6) \quad \frac{1}{x_0 + 1} < \sum_{j=m+1}^n \frac{1}{x_j - x_0} < \sum_{j=2}^m \frac{1}{x_0 - x_j}.$$

On one hand,

$$\sum_{j=m+1}^n \frac{1}{(x_j - x_0)^2} \leq \left(\frac{1}{2} \sum_{j=1}^m \frac{1}{x_j - x_0} \right)^2 \leq \frac{m^2}{4(x_0 + 1)^2}$$

then

$$(2.7) \quad \sum_{j=1}^n \frac{1}{(x_0 - x_j)^2} \leq \frac{m}{(x_0 + 1)^2} + \frac{m^2}{4(x_0 + 1)^2} \leq \frac{4m + m^2}{4(x_0 + 1)^2}.$$

On the other hand,

$$\sum_{j=1}^m \frac{1}{(x_0 - x_j)^2} \leq \frac{m}{(1 + x_0)^2} < m \sum_{j=m+1}^n \frac{1}{(x_j - x_0)^2} \leq \frac{m(n-m)}{(1-x_0)^2},$$

consequently,

$$(2.8) \quad \sum_{j=1}^n \frac{1}{(x_0 - x_j)^2} < \frac{m(n-m)}{(1-x_0)^2} + \frac{n-m}{(1-x_0)^2} = \frac{(m+1)(n-m)}{(1-x_0)^2}.$$

Using (2.3), (2.4), (2.7) and (2.8), we obtain

$$(2.9) \quad p'(x_0) \leq \min \left\{ \frac{p(x_0)}{2(1+x_0)} \sqrt{4m+m^2}, \frac{p(x_0)}{1-x_0} \sqrt{(m+1)(n-m)} \right\}.$$

If $m = n - 1$, (2.6) implies $x_0 > 0$. So by (2.1), (2.9), $p'(x_0) < \sqrt{e}/4 \times \sqrt{4m+m^2} < n/2$.

If $m \leq n - 2$, we estimate $p'(x_0)$ separately in three intervals.

For $x_0 \in (-1, -1/3)$, by (2.9) and $\sqrt{(m+1)(n-m)} \leq (n+1)/2$, $p'(x_0) \leq 3/4 \times (n+1)/2 < n/2$. For $x_0 \in [-1/3, 0)$, by (2.1), (2.9) and $\sqrt{4m+m^2} < n$, $p'(x_0) < n/2$. For $x_0 \in [0, 1)$, obviously $p(x_0)/(x_0+1) \leq 1$, and then by (2.9), $p'(x_0) < n/2$. \square

Lemma 2.4. *Under the conditions of Lemma 2.2, if*

$$\frac{1}{(x_0+1)^2} < \sum_{j=m+1}^n \frac{1}{(x_j-x_0)^2} \quad \text{and} \quad \sum_{j=m+1}^n \frac{1}{x_j-x_0} > \frac{1}{2} \sum_{j=1}^m \frac{1}{x_j-x_0},$$

then for $n \geq 4$

$$p'(x_0) < \frac{n}{2}.$$

Proof. It can be easily checked that

$$(2.10) \quad \sum_{j=1}^m \frac{1}{x_0 - x_j} - \sum_{j=m+1}^n \frac{1}{x_j - x_0} < \sum_{j=m+1}^n \frac{1}{x_j - x_0}$$

and

$$(2.11) \quad \sum_{j=1}^m \frac{1}{x_0 - x_j} - \sum_{j=m+1}^n \frac{1}{x_j - x_0} < \frac{1}{2} \sum_{j=1}^m \frac{1}{x_0 - x_j}.$$

So by (2.3), (2.10),

$$(2.12) \quad p'(x_0) < p(x_0) \sum_{j=m+1}^n \frac{1}{x_j - x_0} \leq p(x_0) \frac{n-m}{1-x_0},$$

and by (2.3), (2.11),

$$(2.13) \quad p'(x_0) < \frac{p(x_0)}{2} \sum_{j=1}^m \frac{1}{x_0 - x_j} \leq \frac{mp(x_0)}{2(1+x_0)}.$$

For $x_0 \in (-1, -1/3]$, if $m \leq n/3$, by (2.1), (2.13), $p'(x_0) < (m/2)(e/2) < n/2$; and if $m > n/3$, by (2.12), $p'(x_0) < (3/4)(n-m) \leq n/2$.

For $x_0 \in (-1/3, 1)$, by (2.1), (2.13), $p'(x_0) < (m/2)(1/2)e^{2/3} < n/2$. \square

Lemma 2.5. *Under the conditions of Lemma 2.2, if*

$$\frac{1}{(x_0 + 1)^2} \geq \sum_{j=m+1}^n \frac{1}{(x_j - x_0)^2},$$

then for $n \geq 4$

$$p'(x_0) < \frac{n}{2}.$$

Proof. It is obvious that $m \leq n-1$. Then by (2.3), (2.4), we can get

$$(2.14) \quad \begin{aligned} p'(x) &= p(x_0) \left(\frac{1}{(x_0 + 1)^2} + \sum_{j=2}^m \frac{1}{(x_0 - x_j)^2} + \sum_{j=m+1}^n \frac{1}{(x_j - x_0)^2} \right)^{1/2} \\ &\leq p(x_0) \left(\frac{2}{(x_0 + 1)^2} + \sum_{j=2}^m \frac{1}{(x_0 - x_j)^2} \right)^{1/2} \\ &\leq \frac{p(x_0)}{x_0 + 1} \sqrt{m+1}. \end{aligned}$$

For $x_0 \in [-1/3, 1)$, by (2.1), (2.14), we have $p'(x) \leq e^{2/3} \sqrt{m+1} / 2 < n/2$.

For $x_0 \in (-1, -1/3)$ we estimate $p'(x_0)$ basing on the relation between m and n .

(i) $m = n-1$: We deduce from (2.4) that

$$(2.15) \quad \begin{aligned} 0 &\leq \left(\sum_{j=2}^{n-1} \frac{1}{x_0 - x_j} \right)^2 - \sum_{j=2}^{n-1} \frac{1}{(x_0 - x_j)^2} \\ &= \frac{2}{(x_0 + 1)(x_n - x_0)} \left[1 - (x_n - 2x_0 - 1) \sum_{j=2}^{n-1} \frac{1}{x_0 - x_j} \right], \end{aligned}$$

which implies

$$\sum_{j=2}^{n-1} \frac{1}{x_0 - x_j} \leq \frac{1}{x_n - 2x_0 - 1}.$$

Consequently,

$$(2.16) \quad \sum_{j=1}^n \frac{1}{x_0 - x_j} \leq \frac{1}{x_0 + 1} f(x_0),$$

where we denote

$$f(x) = \frac{x_n - 2x - 1}{x_n - x} + \frac{x + 1}{x_n - 2x - 1},$$

which is increasing for $x \in (-1, \frac{1}{3})$. By (2.1), (2.3), (2.16), for $x_0 \in (-\frac{2}{3}, -\frac{1}{3})$, $p'(x_0) < f(-\frac{1}{3}) \frac{1}{2} e^{5/6} < \frac{1}{2}n$; for $x_0 \in (-1, -\frac{2}{3}]$, $p'(x_0) \leq f(-\frac{2}{3}) \frac{1}{2} e < \frac{1}{2}n$.

- (ii) $m = n - 2$, i.e., $x_n \geq x_{n-1} > 1$: For $x_0 \in (-\frac{2}{3}, -\frac{1}{3})$, from (2.1), (2.14) we have that $p'(x_0) < \frac{1}{2}\sqrt{m+1} \exp \frac{1}{2}(1-x_0) < \frac{1}{2}n$. For $x_0 \in (-1, -\frac{2}{3}]$, by simple calculation we can get

$$(2.17) \quad \frac{3}{2} \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right) < \frac{1}{x_0 + 1} - \frac{1}{x_n - x_0} - \frac{1}{x_{n-1} - x_0}.$$

From (2.4) we deduce

$$\begin{aligned} 0 &\geq \sum_{j=2}^{n-2} \frac{1}{(x_0 - x_j)^2} - \left(\sum_{j=2}^{n-2} \frac{1}{x_0 - x_j} \right)^2 \\ &= \frac{2}{x_0 + 1} \sum_{j=2}^{n-2} \frac{1}{x_0 - x_j} - 2 \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right) \sum_{j=2}^{n-2} \frac{1}{x_0 - x_j} \\ &\quad - \frac{2}{x_0 + 1} \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right) + \frac{2}{(x_n - x_0)(x_{n-1} - x_0)}. \end{aligned}$$

Further,

$$\begin{aligned} (2.18) \quad &\left(\frac{1}{x_0 + 1} - \frac{1}{x_n - x_0} - \frac{1}{x_{n-1} - x_0} \right) \sum_{j=2}^{n-2} \frac{1}{x_0 - x_j} \\ &\leq \frac{1}{x_0 + 1} \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right) - \frac{1}{(x_n - x_0)(x_{n-1} - x_0)} \\ &= \left(\frac{1}{x_0 + 1} - \frac{1}{x_n - x_0} - \frac{1}{x_{n-1} - x_0} \right) \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right) \\ &\quad + \left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \right)^2 - \frac{1}{(x_n - x_0)(x_{n-1} - x_0)}. \end{aligned}$$

Combining (2.17) with (2.18), we have

$$\begin{aligned} \sum_{j=2}^{n-2} \frac{1}{x_0 - x_j} &\leq \frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0} \\ &\quad + \frac{\left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0}\right)^2 - \frac{1}{(x_n - x_0)(x_{n-1} - x_0)}}{\frac{3}{2}\left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0}\right)}. \end{aligned}$$

Therefore,

$$\begin{aligned} (2.19) \quad &\sum_{j=1}^n \frac{1}{x_0 - x_j} \\ &\leq \frac{1}{1+x_0} + \frac{2}{3}\left(\frac{1}{x_n - x_0} + \frac{1}{x_{n-1} - x_0}\right) - \frac{2}{3} \frac{1}{x_n + x_{n-1} - 2x_0} \\ &= \frac{1}{1+x_0} + \frac{2}{3} g(x_n - x_0, x_{n-1} - x_0) \\ &\leq \frac{1}{1+x_0} + \frac{2}{3} g(x_{n-1} - x_0, x_{n-1} - x_0) \\ &\leq \frac{1}{1+x_0} + \frac{1}{x_{n-1} - x_0}. \end{aligned}$$

Here we denote $g(a, b) = (a^2 + b^2 + ab)/(ab(a + b))$ which is a decreasing function with respect to $a > 0$ and $b > 0$, i.e., $g(x_n - x_0, x_{n-1} - x_0) \leq g(x_{n-1} - x_0, x_{n-1} - x_0)$. Now we can obtain by (2.1), (2.3), (2.19) and $1/(x_{n-1} - x_0) < 3/5$, $1 + x_0 \leq 1/3$ that for $x_0 \in (-1, -2/3]$

$$\begin{aligned} p'(x_0) &\leq p(x_0) \left(\frac{1}{1+x_0} + \frac{1}{x_{n-1} - x_0} \right) \\ &< \frac{1}{2} \exp \frac{1-x_0}{2} + \frac{3}{5} \frac{1+x_0}{2} \exp \frac{1-x_0}{2} \\ &< \frac{n}{2}. \end{aligned}$$

(iii) $m \leq n - 3$: By (2.1) (2.14), $p'(x_0) < e\sqrt{m+1}/2 \leq n/2$, $n \geq 4$.

□

3. PROOFS OF THE MAIN RESULTS

Proof of Theorem 1.1. Without loss of generality, we assume that $p(x) > 0$, $p'(x) > 0$ for $x \in (-1, 1)$ and $\|p(x)\|_{[-1,1]} = p(1) = 1$. Then if we get

$$(3.1) \quad \|p'(x)\|_{[-1,1]} \leq \frac{n}{2},$$

we have Theorem 1.1 proved because other cases can be settled by (3.1) and some linear transformations performed on them. Now we let x_j , $j = 1, 2, 3, \dots, n$, be n zeros of $p(x)$ and

$$x_m \leq x_{m-1} \leq \dots \leq x_1 \leq -1 < 1 < x_{m+1} \leq \dots \leq x_n.$$

We divide our proof into two parts.

Part I. Firstly, we consider the case $x_1 = -1$.

When $n = 1$, we have $\|p'\|_{[-1,1]} = 1/2$, which satisfies inequality (3.1).

When $n = 2$, $p'(x)$ has no zero in $(-1, 1)$ and by (2.3) we get

$$(3.2) \quad \frac{1-x_2}{2} \leq -1 \quad \text{or} \quad \frac{1-x_2}{2} \geq 1.$$

If $(1-x_2)/2 \leq -1$,

$$\|p\|_{[-1,1]} = p'(-1) = \frac{1+x_2}{2(x_2-1)} \leq 1.$$

If $(1-x_2)/2 \geq 1$,

$$\|p\|_{[-1,1]} = p'(1) = \frac{3-x_2}{2(1-x_2)} \leq 1.$$

Thus, (3.1) holds for $n = 2$.

When $n = 3$, there are three cases with respect to x_2 and x_3 .

In the case $x_2 \leq -1$, $x_3 \leq -1$, by some simple calculations, we can obtain for $x \in (-1, 1]$ and $j = 2, 3$,

$$(3.3) \quad 0 \leq \frac{x-x_j}{1-x_j} \leq 1 \quad \text{and} \quad \frac{1}{x-x_j} \leq \frac{1}{x+1}.$$

Thus, by (2.2), (2.3), (3.3) and because of the continuity of p' , we gain $p'(x) \leq 3/2$ for $x \in [-1, 1]$. And the equality holds if and only if $x_j = -1$, $j = 1, 2, 3$.

In the case $x_2 > 1$, $x_3 > 1$, by (2.1), (2.2), (2.3) and because of the continuity of $p(x)$ for $x \in [-1, 1]$,

$$p'(x) \leq \frac{1+x}{2} e \left(\frac{1}{x+1} + \frac{1}{x-x_2} + \frac{1}{x-x_3} \right) \leq e \frac{1+x}{2} \frac{1}{1+x} < \frac{3}{2}.$$

In the case $x_2 \leq -1$, $x_3 > 1$, $p'(x)$ is non-negative for $x \in [-1, 1]$, increasing on $(-\infty, -(1-x_2-x_3)/3]$, decreasing on $[-(1-x_2-x_3)/3, \infty)$, and concave down on $(-\infty, \infty)$. In view of $p'(1) \geq 0$,

$$\frac{1}{x_3-1} \leq \frac{1}{2} + \frac{1}{1-x_2} \leq 1,$$

which implies $x_3 \geq 2$.

If $|(1-x_2-x_3)/3| < 1$, for $(1-x_2)(x_3-1) \geq 2$,

$$\|p'(x)\|_{[-1,1]} = p'\left(-\frac{1-x_2-x_3}{3}\right) < \frac{9+3(x_2+x_3)-3x_2x_3}{6(1-x_2)(x_3-1)} \leq \frac{3}{2}.$$

If $(1-x_2-x_3)/3 \leq -1$, we have

$$\|p'(x)\|_{[-1,1]} = p'(1) \leq \frac{1}{2} + \frac{1}{1-x_2} < \frac{3}{2}.$$

If $(1-x_2-x_3)/3 \geq 1$, for $x_3 \geq 2$, it is obvious that $(2-x_3)x_2 + 2x_3 > 1$, which is equivalent to

$$\|p'(x)\|_{[-1,1]} = p'(-1) = \frac{1+x_2+x_3+x_2x_3}{2(1-x_2)(1-x_3)} < \frac{3}{2}.$$

Thus, (3.1) holds for $n = 3$.

When $n \geq 4$, there exists at least an $x_0 \in [-1, 1]$ such that $\|p'(x)\|_{[-1,1]} = p(x_0)$.

We first consider the case $x_0 = -1$ which yields that $p(-1) = 0$, $p'(-1) > 0$, $p''(-1) \leq 0$. Then by (2.2), (2.3),

$$p''(x) = \frac{2p(x)}{x+1} \sum_{j=2}^n \frac{1}{x-x_j} + p(x) \left(\sum_{j=2}^n \frac{1}{x-x_j} \right)^2 - p(x) \sum_{j=2}^n \frac{1}{(x-x_j)^2}$$

and so

$$p''(-1) = 2p'(-1) \sum_{j=2}^n \frac{1}{-1-x_j} \leq 0.$$

Consequently, due to $\sum_{j=2}^n 1/(x-x_j)$ being a decreasing function of x on $[-1, 1]$,

$$(3.4) \quad \sum_{j=2}^n \frac{1}{x-x_j} \leq \sum_{j=2}^n \frac{1}{-1-x_j} \leq 0, \quad x \in [-1, 1].$$

Then by (2.1), (2.3), (3.4) and the continuity of $p'(x)$,

$$p'(x) \leq \frac{p(x)}{x+1} < \frac{1}{2} \exp \frac{1-x}{2} < \frac{n}{2}, \quad x \in [-1, 1].$$

In the case $x_0 = 1$,

$$\|p'(x)\|_{[-1,1]} = p'(1) = p(1) \left(\frac{1}{1+1} + \sum_{j=2}^n \frac{1}{1-x_j} \right) \leq \frac{n}{2}$$

and the equality only holds for $x_j = -1$, $j = 1, 2, \dots, n$.

In the case $x_0 \in (-1, 1)$, it is easy to see that $p''(x_0) = 0$. Now Lemma 2.3, Lemma 2.4 and Lemma 2.5 together prove that (3.1) holds.

Part II. Secondly, we consider the case $x_1 < -1$. Let $x(t) = (1 - x_1)(t + 1)/2 + x_1$ and $r(t) = p(x) = p[(1 - x_1)(t + 1)/2 + x_1]$. Then we can verify that $r(t)$ satisfies all the conditions of Part I, which yields $\|r'(t)\|_{[-1,1]} \leq n/2$. Thus,

$$(3.5) \quad \|p'(x)\|_{[-1,1]} \leq \frac{2}{1 - x_1} \|r'(t)\|_{[-1,1]} \leq \frac{n}{1 - x_1} < \frac{n}{2}.$$

The proof of Theorem 1.1 is complete. □

Proof of Theorem 1.2. Similarly to the preceding proof of Theorem 1.1, we only need to prove that for the conditions $p(x) > 0$, $p'(x) > 0$ for $x \in (-1, 1)$ and $\|p(x)\|_{[-1,1]} = p(1) = 1$, the equality

$$(3.6) \quad \|p'\|_{[-1,1]} = \frac{n}{2}$$

holds if and only if

$$(3.7) \quad p(x) = \left(\frac{1+x}{2} \right)^n, \quad n \neq 2$$

and

$$(3.8) \quad p(x) = \left(\frac{1+x}{2} \right)^2 \quad \text{or} \quad p(x) = 1 - \left(\frac{1-x}{2} \right)^2, \quad n = 2.$$

Let x_j , $j = 1, 2, 3, \dots, n$, be n zeros of $p(x)$ and

$$x_m \leq x_{m-1} \leq \dots \leq x_1 \leq -1 < 1 < x_{m+1} \leq \dots \leq x_n.$$

Firstly, in the case $x_1 = -1$, we can write

$$p(x) = \frac{1+x}{2} \prod_{j=2}^n \frac{x - x_j}{1 - x_j}.$$

When $n = 1$, it is evident that $p(x)$ satisfies the form of equality (3.7) with $\|p\|_{[-1,1]} = 1/2$.

When $n = 2$, we assume there exists an $x_0 \in [-1, 1]$ such that $p'(x_0) = \|p'(x)\|_{[-1,1]} = n/2 = 1$. Deducing from (3.2), we have $x_2 \leq -1$ or $x_2 \geq 3$. Then by (2.3), we can obtain $x_0 = (1 - x_2)/2 \in \mathbb{R} \setminus (-1, 1)$, which yields $x_0 = \pm 1$ and $x_2 = -1$ or 3 , i.e., $p(x)$ have the form of (3.8).

When $n = 3$, in the proof of Theorem 1.1 we have shown that there is only one situation such that (3.6) holds. That is $x_j = -1$, $j = 1, 2, 3$, which meets (3.7).

When $n \geq 4$, we assume there exists an $x_0 \in [-1, 1]$ such $p'(x_0) = \|p'(x)\|_{[-1,1]} = n/2$. If $x_0 = -1$, by (2.1), $p'(-1) = \lim_{x \rightarrow -1} (p(x)/(x+1)) < n/2$ strictly. If $x_0 \in (-1, 1)$, in the proof of Theorem 1.1 we have obtained $\|p'(x)\|_{[-1,1]} < n/2$ strictly. If $x_0 = 1$,

$$p'(x_0) = p'(1) = \sum_{j=1}^n \frac{1}{1-x_j} = \frac{n}{2}$$

and there is only one situation for $x_j = -1$, $j = 1, 2, 3, \dots, n$ such that the equalities hold. Then $p(x)$ has the form of (3.7).

Secondly, in the case $x_1 < -1$, by (3.5) we know $\|p'(x)\|_{[-1,1]} < n/2$ strictly too.

The proof of Theorem 1.2 is complete. \square

Proof of Theorem 1.3. Without lost of generality, we assume that holds $\|p(x)\|_{[-1,1]} = 1$, $p'(x) \leq 0$ for $x \in [-1, 1]$, and $p(x_i) = 0$, $-1 < x_1 \leq 0$, $x_i \in \mathbb{R} \setminus (-1, 1)$, $i = 2, 3, \dots, n$.

For $x \in [x_1, 1]$, performing a linear transformation on Theorem 1.1, we have

$$(3.9) \quad \|p(x)'\|_{[x_1,1]} \leq \frac{n}{1-x_1} \|p(x)\|_{[x_1,1]} \leq n \|p(x)\|_{[x_1,1]}.$$

For $x \in [-1, x_1)$, from

$$-\frac{p(1)'}{p(1)} = \frac{1}{x_1-1} + \sum_{i=2}^n \frac{1}{x_i-1} \leq 0$$

we have

$$\begin{aligned} 0 &< -\frac{p(x)}{p(1)} = \frac{x_1-x}{1-x_1} \prod_{i=2}^n \frac{x-x_i}{1-x_i} \leq \frac{x_1-x}{1-x_1} \exp\left(\sum_{i=2}^n \frac{x-1}{1-x_i}\right) \\ &\leq \frac{x_1-x}{1-x_1} \exp \frac{1-x}{1-x_1} \leq \frac{x_1-x}{1-x_1} e^2. \end{aligned}$$

Consequently,

$$\begin{aligned}
 (3.10) \quad 0 &\leq -p'(x) = p(x) \left(\frac{1}{x_1 - x} + \sum_{i=2}^n \frac{1}{x_i - x} \right) \\
 &\leq \frac{-p(1)}{1 - x_1} e^2 + p(x) \sum_{x_i \geq 1} \frac{1}{x_i - x} \\
 &\leq n + e^2 - 1.
 \end{aligned}$$

Combining (3.9) and (3.10), we end our proof. \square

Remark. With $p(x) = x^{2m+1}$ (m is a non-negative integer), we see that the order n in Theorem 1.3 cannot be improved, i.e., (1.5) is asymptotically sharp.

References

- [1] *N. C. Ankeny, T. J. Rivlin*: On a theorem of S. Bernstein. *Pac. J. Math., Suppl. II* 5 (1955), 849–852. [zbl](#) [MR](#) [doi](#)
- [2] *P. Borwein, T. Erdélyi*: Polynomials and Polynomial Inequalities. Graduate Texts in Mathematics 161, Springer, New York, 1995. [zbl](#) [MR](#) [doi](#)
- [3] *R. A. DeVore, G. G. Lorentz*: Constructive Approximation. Grundlehren der Mathematischen Wissenschaften 303, Springer, Berlin, 1993. [zbl](#) [MR](#) [doi](#)
- [4] *T. Erdélyi*: Inequalities for Lorentz polynomials. *J. Approx. Theory* 192 (2015), 297–305. [zbl](#) [MR](#) [doi](#)
- [5] *P. Erdős*: On extremal properties of the derivatives of polynomials. *Ann. of Math. (2)* 41 (1940), 310–313. [zbl](#) [MR](#) [doi](#)
- [6] *N. K. Govil*: On the derivative of a polynomial. *Proc. Am. Math. Soc.* 41 (1973), 543–546. [zbl](#) [MR](#) [doi](#)
- [7] *P. D. Lax*: Proof of a conjecture of P. Erdős on the derivative of a polynomial. *Bull. Am. Math. Soc.* 50 (1944), 509–513. [zbl](#) [MR](#) [doi](#)
- [8] *M. A. Malik*: On the derivative of a polynomial. *J. Lond. Math. Soc., II. Ser.* 1 (1969), 57–60. [zbl](#) [MR](#) [doi](#)

Authors' address: Lai-Yi Zhu, Da-Peng Zhou (corresponding author), School of Information, Renmin University of China, No. 59 Zhongguancun Street, Beijing, 100872, Haidian, P. R. China, e-mail: zhulaiyi@ruc.edu.cn, bhibhi289289@ruc.edu.cn.